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3 T i W d  TIT /SPACE FOR ROUGH WORK 



(a) & ~ ~ ~ ~ I ~ T J I R M H ~ M w & ~ ~ .  

(d) 3 3kKCkh =&5&5 hm (ICBM) 6. 

(1) (4, @), (c) (2) @ ) r  (4, (dl 

(3) (a), @I, (dl (4) *d 
Consider the following statements regarding 'Agni-V' that was test fired in December 
2016 : 

(a) It is the longest range missile test fired by India till date. 

(b) This was the first test of Agni-V after India became a member of the Missile Technology 
Control Regime (MTCR). 

(c) It is surface - to - Air Missile. 

(d) It is an intercontinental ballistic missile. 

Which of the above statements are correct ? 

(1) (a), @I, (c) (2) @I, (c), (dl 

(3) (a), @I, (d) (4) All above 

2. ara?wr*kvn**? 

(1) w$*+tm+mTwf+km?r*m*&.  

(2)  fig(*^^^^^^^***. 

(3) ~ . ~ . f f i ~ f s h ~ * T w ~ ~ ~ * .  

(4) 3 k m l + m ~ - * * m w * * * & .  
Which one of the following statements is incorrect ? 

(1) Sakshi Malik is the youngest Indian to win a medal at Olympic. 

(2) Deepa Malik is the first lndian woman to win a medal at Paralympic 

(3) Father of P.V. Sindhu is a Ajun Awardee Volleyball Player. 

(4) Nita Ambani is the first lndian woman elected to the International Olympic 
Committee. 

XrW3d TPlT /SPACE FOR ROUGH WORK 
P.T.O. 



3. 

(1) 1 @ 2016 (2) .15*2015 

(3) 9 JrirTR 2016 (4) 15 2016 

Which of the following days has been recorded in Limca Book of Records in-respect of 
tree plantation in Maharashtra ? 
(1) IS' July 2016 (2) 15'~ July 2015 
(3) 9th August 2016 (4) 15'~ August 2016 

(3) 3a7m.k q m+?vE- (4) ~~~ 
Chief Justice of India Jagdishsingh Khehar has worked as Chief Justice of which High 
Court before he was appointed as Supreme Court Judge ? 
(1) Karnataka and Chhattisgarh (2) Uttarakhand and Karnataka 
(3) Uttarakhand and Chhattisgarh (4) Uttarakhand and Jharkhand 

5. *k-dfBama=rr: 
(a) f&?4l * (Dilma Rousseff) a T @ k W i  ~ V d l  h. 
@) f & ? 4 l * 7 n T N $ + T 3 6 ~ 9 1 ~ W i [ .  

(c) ~ d f & ? 4 l * ~ a r f ~ ~ ~ ~ ~ ~ .  
whit*: 

(1) k-d (a) slTFbl (c) +h &. 
(2) k e  (b) Wl% (c) +h &. 
(3) k e  (a) 4% @) +h &. 
(4) k e  (a), (b) (c) +h &. 
Consider the following statements : 

(a) Dilma Rousseff was Brazil's first female President. 

@) Dilma Rousseff was 36th President of Brazil. 

(c) Last year, Dilma Rousseff was removed from the office by an impeachment. 
Answer options : 

(1) Statements (a) and (c) are correct. 

(2) Statements (b) and (c) are correct. 

(3) Statements (a) and @) are correct. 

(4) Statements (a), (b) and (c) are correct. 

3 T T  /SPACE FOR ROUGH WORK 



6.  ' j h g ~ ~ ~ ~ p m ~ 7 t T f h ~ W f f ~ ~ ~ m ; l l & d ?  

(1) * f@ik h e W3FRf (PRJA) 

(2) * fl? 3bX * SiWTU (PRJA) 

(3) * 3bX * 3WWW (PRJA) 

(4) * #OX e 3WWW (PRJA) 

Which Political Party is established by Irom Sharmila in Manipur ? 

(1) People's Remot and Justice Alliance (PRJA) 

(2) People's Role and Justice Alliance (PRJA) 

(3) People's Republic and Justice AUiance (PRJA) 

(4) People's Resurgence and Justice Alliance (PRJA) 

Which one of the following statements about 'Swachh Swasth Sarvaha' initiative is NOT 
m e  ? 

(1) ' It was launched in New Delhi on December 29, 2016. 

(2) It is an initiative by the Union Health Ministry in collaboration with Ministry of 
Drinking Water and Sanitation and Human Resource Development. 

(3) It is not a part of Swachh Bharat Mission. 

(4) Under it, over 700 blocks (centres) declared as Open Defecation Free (ODF) and 
t 10 lakh will be allocated to each block. 

?+iEZlT Z + i P T d  3T /SPACE FOR ROUGH WORK 
P.T.O. 



What is 'Kayakalp' initiative launched in 2016 under National Health Mission (NHM) ? 

(1) an initiative to bring down Maternal Mortality Rate (MMR). 

(2) an initiative about overall development of infant. 

(3)  an initiative addressing health issues of elderly people. 

(4) an initiative to increase sanitation standards it inculcates practice of hygiene, 
sanitation, effective waste management and infection control in public health 
facilities. 

. 
had written an Oxford D.Phil. thesis suggesting that India shall move towards 

an open bade regime. 

(1) Manmohan Singh (2) Chin tama~ao Deshmukh 

(3) Dhananjay Gadgil (4) Amartya Sen 

d /SFACE FOR ROUGH WORK 



(a) m*<* (i) rn kd 

(c) ~ m * m  (iii) &mrn 
(d) ~ftiaVIm (iv) k $k 

&*: 
( 4  (b) ( 4  ( 4  

(1) (iv) (ii) (i) (iii) 

(2) (i) (iv) (iii) (ii) 

(3) (ii) (i) (iv) (iii) 

(4) (iv) (iii) (i) (i) 

Match the pairs : 

(a) India under the queen (i) William Digby 

@) India Today (i) Rameshchandra Dutt 

(c) Economic history of India (iii) Rajni Palme Dutt 

(d) Prosperous British India (iv) William Hunter 

Answer options : 

( 4  (b) ( 4  ( 4  

(1) (iv) (i) (i) (iii) 

( 2 )  (i) (iv) (iii) (ii) 

(3) (ii) (i) (iv) (iii) 

(4) (iv) (iii) (ii) (i) 

The Industrial Policy Resolution of the year is the 'Economic Constitution' of 
India to achieve the goal of sociahstic pattern of the society. 

(1) 1948 (2) 1956 (3) 1977 (4) 1991 

d 3TW /SPACE FOR ROUGH WORK 
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(a) - 3 d h * 3 i q m d * m .  

@) * ~ d ~ ~ v l m r s n ~ ~ .  

(c) ~ ~ ~ ~ ~ * 3 d h a * ~ .  
(d) * 3 d d b m * a m q * ~ * h .  **: 
(1) (a) f i  (c) - (2) @) f i  (4 - 
(3) O - (4) (4 - 
Which of the following statements about the Cottage Industries are hue ? 

(a) Cottage industry makes the production in villages. 

@) Workers are employed in the cottage industry on salary. 

(c) Cottage industry makes the production of itenls to fulfil the local needs. 

(d) The extent of investment is greater m the cottage industry than the small scale industry. 

Answer options : 

(1) (a) and (c) only (2) @) and (4 only 

(3) @) only (4) (dl only 

13. 1 9 9 1 ~ 3 % ~ ~ ~ ~ ~ ~ ~ ~ ~ 3 l l F T ?  

(a) w k z ~ s ~ m h f 3 5 m ~ .  

@) ~ ~ m h f 6 0 ~ & & .  

(c) g t S l l ~ f $ i l g m a r ~ ~ * .  
(d) m m ~ = 4 f m l 7 ~ e l ( ~ ~ ~ .  **: 
(1) (a) f i  (b) - (2) (b), (c) f i  (dl 

(3) (a) * (dl (4) (a) (c) - 
Which of the foljowing provisions regarding the Small Scale Industries were made in the 
New Economic Policy of 1991 ? 

(a) To raise the investment limit to f 35 lakh. 

@) To increase investment limit to ? 60 lakh. 

(c) To make available the finance at adequate measure. 

(d) To make available the facilities for the supply of raw material and distribution. 
Answer options : 

(1) (a) and @) only (2) (h). (4 and (dl 
(3) (a) and (dl only (4) (a) and (c) only 



(1) TfwJl (2) (3) -F' (4) - 
In the middle of 1956, two Indian delegations were sent to to study how they 
organized their cooperatives and achieved such rapid increases in agricultural outputs. 
(1) Russia (2) China (3) Cuba (4) Israel 

(1) ~ . m r ~ ~ - h ~ ~ ~ .  
(2) m 7 a ? m r c h * m ~ ~ m ~ ~ .  
(3) ~ m w m l a ? w m & l .  
(4) & ~ & w r f % m ~ n ? r ; m & l .  
Idenhfy the appropriate statement regarding Ottawa Pact of 1933. 

(1) Ottawa Pact was about cultural exchange. 

(2) Industrially advanced nationsunder the British Empire should give octroi concessions 
to each other. 

(3) This pact was for controlling the dictators. 

(4) This pact was meant for agricultural development in India. 

16. ~ ~ V l W ~ ~ ~ ' i h I F I ~ & ?  

(a) d &. 
@) ~ ~ * m ~ * m ~ .  
(c) 4?8 =ww-d rn d. 
(d) q$ UWEiml d. 
**: 

(1) (a) 3TfiT ( 4  (2) (c) 

(3) (a), @) aTfiJl ( 4  (4) *'Kdm 
The Industrial Revolution affected the social life in which of the following ways ? 
(a) Unemployment of artisans. 

@) Migration of rural people to the cities. 
(c) Importance of agriculture enhanced. 

(d) The whole social life was churned. 
Answer options : 

(1) (a) and ( 4  only (2) (c) only 
(3) (a), @) and (d) (4) All the above statements 

3iYEUf 3PlI /SPACE FOR ROUGH WORK 
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(a) (1) * 
@) --m (ii) +m 

(c) *3TTfbTf$itmrm (4 m 
(d) 7+TF3w +m (iv) 

&&: 

(4 (b) (c) (4 
(1) (iv) (iii) (ii) (i) 

(2) (iii) (iv) (i) (ii) 

(3) (i) (ii) (iii) (iv) 

(4) (ii) (i) (iv) (iii) 

Match the following organizations ol the farmers and the states from where they were : 

(a) Rajya Ryothu Sangh (i) Kartrataka 

(b) Bhartiya Kisan Union (ii) Punjab 

(c) Khedut and Kisan Sangh (iii) Cujarat 

(d) Vivasayigal Sangatn (iv) Tamil Nadu 

Answer options : 

(a) (b) (c) (4 
(1) (iv) (iii) (ii) (i) 

(2) (iii) (iv) (i) (ii) 

(3) (i) (ii) (iu) (iv) 

(4) (ii) (i) (iv) (iii)' 

IS. %i3fmsn-*&-d e r n & .  

Resolving power of telescope increases by increasing its 

(1) Length of telescope (2) Didlneter of oblectlve of telescope 

(3) Radius of objective of telescope (4) Wavelt.tlgth of light 

hi;zq( ;iTrm /SPACE FOR ROUGH WORK 



(a) T * (i) * m w q ~ & % m $  

(b) faga (ii) faga 3wvrid qw 
(c) faTim37 (iii) fqam** 
(4 faga f%b3m (iv) faga 

(v) * w b I * T f m  
**: 

('4 (b) (4 ( 4  

(1) (4 (iv) (v) (1) 

(2) (iii) (iv) (i) (ii) 

(3) (v) (iii) (i) ' (iv) 

(4) (iii) (v) (ii) (iv) 

Match the following : 

(a) Joule's Law (i) Substances with very high resistance 

(b) Electric Power (ii) Safety of electrical appliances 

(c) Insulators (iii) Heating effect of electric current 

(d) EIectric Fuse (iv) Rate of consumption of electric energy 

(v) Heating effect of magnetic current 
Answer options : 

(4 (b) (c) (4 
(1) (4 (iv) (4 (i) 

(2) (iii) (iv) (i) (ii) 
(3) (v) (iii) (4 (iv) 
(4) (iii) (v) (ii) (iv) 

20. 1 4 c ~ & ~ 6 d r z i ; t r W h  e &. 

(1) 6 (2) 7 (3) 8 (4) 12 
14c isotope contains six protons and neutrons. 

(1) 6 (2) 7 (3) 8 (4) 12  

21. T @ z x 4 1 ~ i + 4 l w r m d ; s m R m r d t  w3ThM.  
(1) 1311 (2) 1271 (3) 134, (4) 3021 
Which isotope is used to cure Goitre, which is a thyroid gland disorder ? 

(1) (2) 127, (3) 1341 (4) 3021 

.- - - ,  ZF l l  /SPACE FOR ROUGH WORK P.T.O. 



22. ~ ~ ~ ~ , ~ ~ * e T ; m T l i j t ~ ~ ?  

(1) W.W.Y. (2) w+ 
(3) d.W.Y. (4) 
Western blotting technique is used to analyse 

(1) RNA (2) Proteins 
(3) DNA (4) Carbohydrates 

23. "2j3WT' (T.~.JTm.VT.FI.P.) FJd 
(1) drnF=@-?fm7* 
(2) & f ? + K F $ - ~ *  
(3) drnF$-** 
(4) mrnF=@-** 
'ELISA' stands for : 

(1) Enzyme Linked Immuno - Solvent Assay 

(2) Enzyme Linked Immuno - Solvent Assembly 

(3) Enzyme Linked Imrnuno - Sorbent Assay 

(4) Energy Linked lmmuno - Sorbent Assay 

(a) 

(b) *m;r * M m  
(c) * m;r arb mmm 
(d) *msTr3flfbl~m 
~ 3 b J r h  faem/fa& a f m  &/*? 

(1) (a) - (2) @) - 
(3) (a), @) 3flfbl(c) '(4) (a), (4 * (4 
The Unicostate Reticulate Venation is seen in : 

(a) Banana leaf Lnd Bamboo leaf 

@) Mango leaf and Pipal leaf 

(c) Castor leaf and Bay leaf 

(d) Fan palm leaf and Grass leaf 
Which of the statement/s given above is/are correct ? 

(1) (a) only (2) (b) only 
(3) (4, (b) and (c) (4) (4, (4 and ( 4  

-- 

XNrR4'd 3'PlT /SPACE FOR ROUGH WORK 



(3) (4 F+a (4) (4 Jllfbl (4 
Which of the foUowing characters of co~nmunity is of Floristic Composition ? 
(a) qualitative (b) quantitative 
(c) simple (d) complex 
Which of the statement/s given above is/are correct ? 

(1) (a) only (2) (b) only 
(3) (4 only (4) (4 and ( 4  

This diagram represents the main parts of the human ear. Which letter points to the part 
of the ear that is not involved with the sense of hearing ? 

(1) A (2) B (3) c (4) D 

3iMU& 3PT /SPACE FOR ROUGH WORK 
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(3) mm* (4) m +Tim l%m 
Name the person described in the following sentences 
He held radical views on social reform, and was close to Agarkar in this respect. 

Moving a resolution on the elevation of the Depressed Classes at the Dharwar Social 
Conference in 1903, he had championed cause of the Depressed Classes. 

(1) Justice Ranade (2) G.K. Gokhale 
(3) Vitthal Ramji Shinde (4) Bal Gangadhar Tilak 

28. h h ~ :  

(a) wF+- er-+q 6) - @ 
@) -* (ii) f3.a m 

(c) miRl (iii) &WW?I d 
(d) w??H d m  (iv) 

d*: 
(a) (b) ( 4  (4 

(1) (iii) (i) (iv) (ii) 
(2) (i) (ii) (iii) (iv) 
(3) (iv) (iii) (ii) (i) 
(4) (ii) (iv) (i) (iii) 

Match the pairs : 
(a) Jatyuchhedak Nibandha (i) Karsandas Moolji 
@) Somwanshiya Mitra (ii) V.D. Savarkar 
(c) Satya Prakash (iii) Behramji Malbari 

(d) Saktiche Vaidhvya (iv) Shivram Kamble 

Answer options : 

(a) (b) (4 (4 
(1) (iii) (i) (iv) (ii) 

(2) (i) (ii) (iii) (iv) 
(3) (iv) (iii) (ii) (i) 

(4) (ii) (iv) (i) (iii) 

3i=ZlT TITI /SPACE FOR ROUGH WORK 



29. ~ ~ ~ ~ & 5 V i T l F i T ~ & 3 ? 4 4 ~ & P ? t ~ ?  

(1) m Tia (2) - T 
(3) ~ r n  (4) m 
Who led the Satyagraha at Dharasana m Gujarat after the arrest of Gandhiji ? 

(1) Kasturba Gandhi (2) Sarojini Naidu 

(3) Hansaben Mehata (4) Awanhkabai Gokhale 

30. P9.W. m ~ b  U X W  *. 
(1) 3* (2) m 
(3) -Fisitm (4) 8% 76kM 
M.S. Swaminathan was associated with 

(1) Social Reform (2) White Revolution 

(3) Space Research (4) Green Revolution 

31. Y@I (1950-53) F'6f VRtTMl W a qftw ?%8. 

(1) * (2) M--m (3) m (4) +?I 

The crisis (1950-53) was the first crucial test of Indian Policy of ndn-alignment. 

(1) Korean (2) Indo-China (3) Suez (4) Congo 

The attitude of men towards the women's participation in the Nationalist Movement, 
changed after a number of women wrote to the Viceroy in support of the 
llbert Bill that would allow Indian judges to h.v cases involving Europeans. 

(1) Maharashtrian (2) Gujarati (3) Bengali (4) Punjabi 

7lTT /SPACE FOR ROUGH WORK 
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33. * * ~ * - h ?  

(a) -3-* @) m (c) * 
**: 
(1) (a) @) ( 4  (2) ( 4  @) (a) (3) @) (4 (a) (4) (a) (4 @) 

Which is the correct chronological sequence of the merger of the states ? 

(a) Jammu - Kashmir @) Junagarh (c) Hyderabad 

Answer options : 

(1) (a) @) (c) (2) (c) @) (a) (3) @) (c) (a) (4) (a) (c) @) 

The largest mineral deposits are found in the area of Vidharbha and the 
area of Konkan. 

(1) Eastern and Southern (2) Western and Southern 

(3) Southern and Northern (4) Northern and Eastern 

- - 

35. ~ * ~ - m m ~ * & ?  

(1) - (2) - (3) * (4) ~ 
Which of the foUowing district of Maharashtra is largest in area ? 

(1) Ahmadnagar (2) Gadchiroli (3) Nashik (4) Pune 

3Pll /SPACE FOR ROUGH WORK 
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36. ~ * 4 d U & & T 6 % 5 f 3 ? $ ~ ~ ~ :  

+ld m 
(a) *- (i) PiEm 

(b) - (ii) TRFrrS 

(c) * (4 - 
(4 V-d * (iv) 

**: 
(a) (b) ( 4  ( 4  

(1) (i) (i) (iv) (ii) 

(2) (iii) (i) (i) (iv) 

(3) (iv) (i) (ii) (iii) 

(4) (iv) (iii) (i) (ii) 

Match the pairsof deposits of resources and district of Maharashtra : 

Resources District 

(a) Iron - ore (i) Bhandara 

(b) Bouxite (ii) Yavatmal 

(c) Manganese (iii) Kolhapur 

(d) Charcoal (iv) Gadchiroli 

Answer options : 

(a) (b) (c) (4 
(I) (i) (iii) (iv) (i) 

(2) (iii) (i) (i) (iv) 

(3) (iv) (i) (ii) (iii) 

(4) (iv) (iii) (i) (i) 

/SPACE FOR ROUGH WORK 
P.T.O. 



37. im-gjim: 

-4 
(a)  T.4. 1 (4 

@) n.4. 7 (ii) 

(c) TT.4. 17 (iii) 

(d) n.4. 5 (1.) 

(4 **: 
(a) (b) (4 (4 

(1) (iii) (i) (iv) (ii) 

(2) (i) (i) (iii) (iv) 

(3) (iv) (iii) (ii) (i) 

(4) (ii) (iv) (i) (iii) 

Match the following : 

National highways 

(a) N.H. 1 (I) 

@) N.H. 7 (4 
(c) N.H. 17 (iii) 

(d) N.H. 5 (1.1 

(v) 
Answer options : 

(a) (b) (c) (4 
(1) (iii) (i) (iv) (ii) 

(2) (i) (ii) (iii) (iv) 

(3) (iv) (iii) (ii) (i) 

(4) (ii) (iv) (i) (iii) 

Cities 

Varanasi - Kanyakumari 

Jharpokharia - Chemai 

Delhi - Amritsar 

Panvel - Edapally 

Dehi - Kolkata 

- 

38. ~ ~ w ~ T @ ~ W T I ~  4. 
(I) WW. 3 (2) F W .  6 (3) V.W. 50 (4) y7.W. 4 - 3  

The longest National Highway in Maharashtra is 

(1) NH 3 (2) NH 6 (3) NH 50 (4) NH4-B 

T i l T  /SPACE FOR ROUGH WORK 
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(a) 3. i.$ (b) m* 

Study carefully the following climatic regions of Maharashtra : 

(I) Tropical monsoon rain forest climate - AM 

(11) Tropical semi and/or steppe climate - BS 

(111) Tropical wet and dry or monsoon savana climate - AW 

The above climatic regions of Maharashtra are/is related to which of the following scientist/ 
scientists ? 

(a) Dr. Trewartha (b) Miss Sample 

(c) Koeppen (d) Thornthwaite 

(1) (4,  ( 4  and ( 4  (2) (c) and ( 4  

(3) only (a) (4) only @) 

In 1999, which train in India was declared as an 'Important World Heritage' by UNESCO ? 

(1) Darjeeling Himalayan (2) Nilgiri Mountain Railway 

(3) Kalka - S i a  Toy-Train . (4) Nerd - Matheran Railway 

& 3tT /SPACE FOR ROUGH WORK 
P.T.O. 



41. ~&fZkh?~~~Tk4ld3XlTGil. 

i?hi&Mm % 

(a) -vm 0) - 
@) q?4-!4vm (ii) * 
(c) f%Jam (iii) w 
(d) 34% f%Ja WTI (iv) WWFR 

**: 
(a) (b) (4 (dl 

(1) (iii) (ii) (iv) (i) 

(2) (iv) (i) (iii) (ii) 

(3) (4 (iv) (i) 

(4) (i) (iii) (ii) (iv) 

Match the pair of population density and district of Maharashba. 

Population density District 

(a) High density (i) Gadchiroli 

@) Medium density (ii) Nashik 

(c) Low density (iii) Nagpur 

(d) Very low density (iv) Ahrnadnagar 

Answer options : 

(a) (b) ( 4  (dl 

(1) (ih) (ii) (iv) (i) 

(2) (iv) (1) (14 (ii) 

(3) (ii) (iv) (i) (iii) 

(4) (i) (iii) (li) (iv) 

TilW& W /SPACE FOR ROUGH WORK 
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42. TX?hfild~: 

(a) dm+3hM~;ima&. 

@) f m 3 e i s F H ~ ~ s g ~ & .  

(c) 3kr?d f$Tt%d 3 7817 4. &. 
d*: 
(1) W3 film (a) * &. 
(2) W3%m @)* &. 
(3) %ern (a) &I (c) * &. 
(4) (a), @) (c) * *. 
Observe the following statements : 

(a) The height of the Rakaposhi Peak is greater than Kailas Peak. 

@) Shimla hill station is located in lesser Himalaya. 

(c) The height of the Nandadevi Peak is 7817 m. 

Answer options : 

(1) Only statement (a) is correct. 

(2) Only statement @) is correct. 

(3) Statement (a) and (c) are correct. 

(4) Statement (a), @) and (c) are correct. 

43. ?dk&i?t $Fd oTI$I $? oTI$I (scheduled language) ? 

(1) +rJ3 (2) w (3) f+fr$t (4) urn 
Which one of the following languages in India is NOT a scheduled language ? 
(1) Dogri (2) Bhojpuri (3) Maithili (4) Santhali 

(4) * ~ ~ ~ ~ ~ ~ ~ * ~ ~ .  
Which of the following statements about Attorney General of India is correct ? 

(1) He is appointed for a fixed term of five years. 

(2) He holds office during the pleasure of the President. 

(3) He holds office as long as he enjoys the confidence of the Parl~ament. 

(4) He can be removed from office only by the procedure laid down in the Constitution. 

=FEQl /SPACE FOR ROUGH WORK 
P.T.O. 



(4) ~ ~ m * m ~ .  
The right to life and personal liberty (Article - 21) - 

(1) Can be suspended by the President during National Emergencies. 

(2) Can be suspended by the President during all types of emergencies. 

(3) Can be suspended by the President with the prior approval of the Supreme Court at 
any time. 

(4) Cannot be suspended under any condition. 

(a) ~ ~ k F i d q s T f % + R F k F l ~  ( m - 2 6 3 d )  

-***? 

(1) (4 ,  (b), (c) (2) (b)! (c), ( 4  

(3) (a) * (dl - (4) 

Consider the following recommendations of 'Punchhi Commission' : 

(a) To make the Inter-state Council a credible, powerful (under Article - 263). 

@) To give equal seats to states in the Rajya Sabha. 

(c) To create new aU India services in sectors like health, education, engineering. 

(d) To set-up an inter-state Trade and Commerce Commission (under Article - 307) 

Which of the above are correct ? 

(1) (4, (b), (4 (2) @I, (c), ( 4  

(3) (a) and (d) only (4) all the above 

TEXl FPTJ& TPlT /SPACE FOR ROUGH WORK 



Which one of the following statements is NOT correct ? 

(1) There shall be at least four Gram Sabha meetings for every financial year. 

(2) The first meeting of Gram Sabha in every financial year shall be within two months. 

(3) A period of not more than three months between two Gram Sabha meetings. 

(4) The individual beneficiaries for central and state government schemes are selected 
by Gram Sabha. 

Which reference to the Council of Ministers of Maharashtra, which one of the following 
statement is CORRECT (Article - 164) ? 

(1) The total number of Ministers shall not exceed 15 percent of the total sbength of the 
State Legislature. 

(2) The Ministers shall hold office during the pleasure of the Chief Minister. 

(3) The Council of Ministers shall be collectively responsible to the State Legislature 

(4) The salaries and allowances of ministers shall be determined by the State Legislature. 

T J l T  /SPACE FOR ROUGH WORK P.T.O. 



Which one of the folIowing statements regarding Constituent Assembly of India is 
incorrect ? 

(1) The Constituent Assembly was a partly elected and partly nominated body. 

(2) The Constituent Assembly was elected indirectIy by the members of the provincial 
Legislative Assemblies. 

(3) The scheme of election was laid down by the Cabinet Mission Plan. 

(4) The distribution of seats was done on the basis of the Mountbatten Plan. 

TWJT (R) : o r m m j T f ~ , 1 9 3 5 1 ~ T m ~ ~ ' k o r m n f t ~ $ h ? .  
33.--fm, niir * T m d  @. 

(1) (A) rn (R) m fid m 3Tm * (R) $ (A) 4 ih * *. 
(2) (A) 3#Jl (R) f++l FIX 3Tm Ytg (R) * (A) 4 -chrq - ;lli?l. 

(3) (A) * Ytg (R) * *. 
(4) (A) m * Ytg (R) *. 
Assertion (A) : Under the Government of India Act, 1935, the Residuary Powers were 

vested in the Central Legislature. 

Reason (R) : The Government of India Act, 1935 divided the subjects into three lists 
viz. the federal, provincial and concurrent. 

(1) Both the statements (A) and (R) are true and (R) is the correct explanation of (A). 

(2) Both the statements (A) and (R) are true but (R) is not a correct explanation of (A). 

(3) (A) is true but (R) is false. 

(4) (A) is false but (R) is true. 

d /SPACE FOR ROUGH WORK 



While riding her car NoN saw 12 of her friends wailing on the bus stop for going home. 
She offered to ride five of them to their destination. Among them Eku and Miku want to 
plan next day's work on their way home and decided that either both of them join or 
none of them would join. Choose the option that indicates number of ways can five 
friends choose to join NoN. 

The opposite sides of a cube are painted with red, yellow and Green colour. It is then cut 
into 64 small cubes of equal size. How many cubes does not have any faces painted ? 

(2) 16 
(4) None of the above 

mmd /SPACE FOR ROUGH WORK 
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(a) ~ 3 & M ~ d ~ ~ % + ~ ~ & .  

Research may be for investigating DNA or for studying effects of new medicines for 
determining the dose, laboratory experiments are done on mice. For many years these 
experiments were done on male mice only. It was not taken into consideration that the 
new medicines might cause different effects on women as they have different hormones, 
while experimenting on male mice for studying effects of new medicines on their hormones. 
Awareness of this become evident when women started participating in scientiiic rrsearch 
in large numbers and thinking about the research with woman sensitivity, they started 
thinking about necessity of considering gender differences during experiments as man 
pnd woman have different anatomies. Now male and female mice are used in the 
Iaboratories : 

SeIect the option that represents logical comment/s based on the above information. 

(a) All women should be provided appropriate medical treatment because they have 
different hormones. 

@) All women should consult women doctors only for treatment because they are women 
sensitive. 

(c) All medical practitioners should update their knowledge about medicine dosage for 
treating women. 

Answer options : 

(1) All (2) None (3) (a) and ( 4  (4) only @) 

WW7l& 3PT /SPACE FOR ROUGH WORK 



54. P , Q , R , s ~ T $ ~ ~ H ~ & .  ~ b + ~ R w h m ~ j T f e m ; % m m i t & 3 ~ % w  
am&. ~ b ~ % W m 4 ~ a ~ h m & , 3 ~ R ~ j T f ~ ~ f e m ; * & .  S?7&7-4& 
m+&w?i?7&7jTfpm;%&. ~ b ~ 3 w j T f e m ; * & ~ + m ~ r $ & w  

? i ~ m F m r * & .  M 4 ~ W j T f e m ; % ~ & * 4 ~  
m h & &/?a +/3 M. 
(1) - (PI (2) - (S) 

(3) - (R) (4) (R) 4 (Q) 34 
P, Q, R, S and T are five washing machines. T is faster and more energy saver than R 
which is costlier than T, P is costlier than R and faster than Q, which is more energy saver 
than T, S is the slowest and cheapest of all machines but is most energy saver. R is more 
energy saver and faster than Pbut is third costlier. Select the machine/s that has/have as 
many as machines that are more enerby savers and as many as machines slower than it/ 
them. 
(1) Only (PI (2) Only (S) 
(3) Only (R) (4) Both (R) and (Q) 

55. m m m m d A , B , C , D , K , r > , M , 4 N b m h * ; I ~ *  
-dk%'R&&. ~ ~ T l d ~ ~ ~ & .  AW- 
~ ~ ~ a n ~ q m m & ; ~ i t c ~ ~ @ k & .  N W C = ~ ~ & G ~  
T - ~ I & ~ D ~ K ~ ~ ~ I T & ; ~ A A - K + = ~ ~ ~ & .  ~m%'rwm3&mqm$'t 
a%rm*T$. ~ o m ~ / ~ 3 m * / ? m .  
*: 

(a) A V L W ~ I T & .  
@) ~ ~ ~ ~ B T w ; I * ~ ~ T $ .  
(c) L~DP*%IM&&. 

(d) ~ s ~ b ~ ~ ~ ~ .  
rFqFdf*: 

(1) (a) 4 (b) (2) - (b) 4 (c) 
(3) (b) d+i (4) (d) dm Fi 
Eight friends A, B, C, D, K, L, M, and N, are sitting exactly facing each other, in two rows 
with equal number of members in each row. Members of one row are facing north. A is 
sitting in a row facing north, to the immediate right of M who is sitting exactly opposite 
to C. N is to the immediate right of C and D is exactly opposite of K, who is to the immediate 
right of A. L does not sit at the ends of any row. Select the correct description/s of the 
positions of members. 
Descriptions : 
(a) L is opposite of A. 
(b) Position of B cannot be determined for the lack of necessary information. 
(c) L and D are sitting immediate next to each other. 

(d) M and L are not members of the same row. 
Answer options : 
(1) Only (a) and (b) (2) Only (b) and (c) 

- (3) All but except (b) (4) All but except (d) 
~ ~ ~ ~ ~ - - - -  

?tFE4T e m  /SPACE FOR ROUGH WORK 
P.T.O. 



Given here ate 2 true statements followed by conclusions (a) and (b). Select the logical 
conclusion/s with respect to statements. 

Statements : No tree is a flower. Some trees are fruits. 

Conclusions : (a) Fruits that are trees are not flowers. 

@) No fruit is a flower. 

Answer options : 

(1) Only conclusion (a) follows 

(2) Only conclusion (b) follows 

(3) Either conclusion (a) or @) follows 

(4) Neither conclusion (a) nor @) follows 

TT /SPACE FOR ROUGH WORK 



Study accompanying transparent sheet of paper x and select the fold that is made using 
it : 

58. 2, 9, 28, 1, 126, 217, 344 

~ ~ 3 1 - ~ ~ ~ ~ . r c r f s m .  

(1) 50 (2) 65 (3) 70 (4) 82 

2, 9, 28, ? , 126, 217,344 

Choose the most logical option for replacing question mark in the given series. 

(1) 50 (2) 65 (3) 70 (4) 82 

aEEQT T V T R ' d  Tirmr /SPACE FOR ROUGH WORK P.T.O. 



(a) m.3- d m. 

(d) d * ~ u ; n ~ & = T ~ ? l s 4 m H 3 ~ ~ d .  

(3) @) d (4) *M* 
Examine the following information and select logical inference/s based on it 

Smart phone, though still quite expensive; is not now a days considered to be an item of 
luxury, as any angutha chhap person can operate it by mere twiddling of his or her thumbs, 
and can leam on his own by exploring and discovering, the way he or she wants, if he or 
she desires. 

(a) Smart phones are essential for self-learning 

@) All things that are expensive are not essential for self-learning. 

(c) All things that are essential for self-learning should not be regarded as luxury. 

(d) With smart phones one can learn through exploration and discovery. 

Answer options : 

(1) O*Y (a) 

(3) All except @) 

(2) Only (a) and (dl 

(4) None from the list 

/SPACE FOR ROUGH WORK 
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60. w ~ a w f l ~ d * $ * * m w - @ * $ ~ + * .  
WrnV?i ,  l ' e t ~ * . "  !3mlrnT?i, "et~*."*fs;snwait 
~ ; i ~ ~ ~ r n ~ . ~ ~ ~ i m ~ :  
(1) WmT$M?p-rr*+ggit~-mw*. 
(2) w M T ~ @ & ~ ~ m T f s ~ m r * .  
(3) ~m~$M~&+ggit~-mw*. 
(4) -MT$w*4lfiJlmmT$fl*. 
It is definite that a boy and a girl are sitting on the swing but who is boy or girl cannot be 
identified. "I'm a boy," says child with straight hair. "I'm a girl," says the child with the 
curly hair. If at least one of them is lying then select the appropriate statement about 
them : 
(1) The straight haired child is definitely a girl but it is not possible to idenhfy the other 

child. 
(2) The straight haired child is a girl, and the curly haired child is a boy. 
(3) The curly haired child is definitely a boy but it is not possible to identdy the other 

child. 
(4) The straight haired child is a boy, and the curly haired child is a girl. 

61. Y @ ! W ~ F T l @ W $ % ' K ~ ~ .  Y k ¶ ' F R T ~ ~ ~ ~ ~ / t ~ ~ ~  
m. 
ld?mFr: * m meit ~~ 3 iym~vl l4u i j  w3 rn &. 
-: 
(a) "m*, vas*m?" 
@) . r o f ~ ~ ~ m ~ ~ m ~ ; r ; l .  
(c) ? m m l m ~ * m ~ m . r h ~ m m m a r w * .  
(d) .rPfmam-Fjfarwmmmm. ~ * :  
(1) - (a) 9 @) (2) (d) T * 
(3) - (a) (4) - ( 4  4 ( 4  
Study the statement and arguments that follow it. Select the argument/s which supports/ 
support the statement logically and lawfully. 
Statement : 
It is necessary to use Iaw preventing gender diagnosis of foetus rigorously. 
Arguments : 
(a) "How will one get sister, daughter-in-law and wife ?" 
@) No woman should be given permission for abortion unless foetus is abnormal. 
(c) Every woman has right to get the safe abortion facilities through government health 

services. 
(d) Abortion should be the right of women. 
Answer options : 
(1) only (a) and @) (2) AU except (d) 
(3) only (a) (4) O*Y ( 4  and ( 4  

W4P&' ;irmr /SPACE FOR ROUGH WORK 
P.T.O. 



Study the road map that connects villages b and a, and choose the option that indicates 
number of all possible routes that are available for transport from b to a without retracing 
any junction : 

Select odd object : 

~ - 

64. hm~&,f@3l~M$. h f @ 3 l ~ T $ , b ~ & .  W * ~ X ~ T & ~ ~ % % Z ~ W J I I ~  

d. $rdmmM$m~-wrfmlm. 
(I) b z m , f @ x y & .  (2) m x m , h - z r z d .  

(3) f @ 3 l y m m , m x d .  (4) m x ~ , f @ 3 l y M $ .  
When red is X, green is Y. When green is not Y, blue is Z. But blue is never Z as long as red 
is X. If all this informtions are true then select statement which is true ? 

(1) While blue is Z; green is Y. (2) While red is not X, blue is not Z. 

(3) While green is not Y, red is not X. (4) Since red is not X, green is Y. 

ifirmTllijt ZfPlT /SPACE FOR ROUGH WORK 



65. 3 l @ 7 , ~ ~ T h T & , 3 ? ? 1 F T b T ~ 3 l T T Z m & .  3l@7FTbT&?JhlWET 
~ ~ * ~ ~ ~ ~ q q f q f r n .  

(1) 20 (2) 24 (3) 30 (4) 28 
Nazir, who is sixteen years old, is four times older than his sister. Select the option that 
indicates number of years old Nazir will be when he is twice as old as his sister. 

(1) 20 (2) 24 (3) 30 (4) 28 

66. ?%Tih*~-m3oqltn. 

A , B , c , D , E ~ F $ ~ ~ ~ ~ ~ * ~ * , % ,  W F W , Z I $ , k 4 * m  

hfmwrmmwkit7ir. vm3ymm*;fi*fahmiamr+t. D , ~ E E ~ ~ w +  
& , m m $ m h m m m m .  ~,+~t.rr;is&wf%$t~c=pv&,3?~i3fahw?i 
. F ~ A ~ ~ E I ~ & & I F ~ I % & ~ .  ~ , ~ k M w ? i ~ f & ? & i f t m  

afqmmiawa. ~ ~ ~ ~ * ~ m * f a ~ f i a s r .  
m: 
(a) c ~ d M * - @ H m f M + t .  
@) C+A-EM*&. 
(c) D ~ F + ~ ~ ~ F F ~ B = ~ ~ B T ~ .  
&*: 
(1) @) $ (c) eF-8 (2) - (a) 

(3) @) * (4) (4 * lJ3.8 T-8 
Study following information about the joint family comprised of three generations. 

A, B, C, D, E and F are members with two married couples and each member prefers 
distinct fruit amongst banana, chiku, pineapple, grapes, guava and orange. None of the 
male member prefers either banana or guava. D, who is a son-in-law of E, enjoys grapes 
most. 8, who has a sibling F and son of C, prefers orange. F is A's grandchild and likes 
banana. A, who prefers guava has a spouse who prefers chiku. Select statements from 
following set which are not true with respect to this information. 

Statements : 

(a) Information is not sufficient to ascertain C's preference of fruit. 

@) C is daughter of A-E. 

(c) D is a father of F but person F is not a sister of B. 

Answer options : 

(1) Both @) and (c) (2) Only (a) 

(3) All but except @) (4) None but except (c) 

W ?+iTW& TWIT /SPACE FOR ROUGH WORK 
P.T.O. 



Select the logically appropriate word to fill in the blank. 

An aloe plant may be an excellent choice for those who are interested in gardening but 
keep busy schedules; aloes easily . without frequent watering or careful 
maintenance. 

Words : 

(a) facilitate 

(c) ingest 

(d) flourish 

(e) advance 

Answer options : 

(1) either (e) or (d) (2) only (d) 

(3) either (b) or (c) (4) only (a) 

F 5 3 4 T  TPTtT& 7PT /SPACE FOR ROUGH WORK 
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Which diagram can replace question mark ? 

69. m 3 v w f & 3 ~ ~ 1 ~ m r + 3 m m .  
~ * A , B , c , D ~ ~ E , ~ ~ ~ G , H , K ~ ~ L ~ ~ ~ ~ ~ M , N , o , P , Q ~ ~  
~sg&+m%. ~ A , B , G , H , O , P W ~ ~ Q Q I ~ & ~ ~ ~ ~ & .  
-Fis**&&: 
(a) % g m * & , m m f W ~ *  
@) % p m m & , m * * *  

m: 
(1) A, B, 0, P, Q, G, H (2) C, D, K, L, 0, P, Q 
(3)  C, D, 0, P, Q, G, H (4) D, E, G, H, 0, P, Q 
Study the following information carefully and answer the question. 
From amongst five doctors A, B, C, D and E, four engineers G, H, K and L and six teachers 
M, N, 0, P, Q and R, some teams are selected. Of these A, B, G, H, 0, P and Q are females 
and rest are males. The information of teams is subjected to below conditions : 
(a) Wherever there is a male doctor, there will be no female teacher 
@) Wherever there is a male engineer, there will be no female doctor 
(c) There shall be not more than two male teachers in any team 
If the team consists of two doctors, three female teachers and two engineers, the members 
of the team are . 
(1) A, B, 0 ,  P, Q, G, H (2) C, D, K, L, 0 ,  P, Q 
(3) C, D, 0, P, Q, G, H (4) D, E, G, H, 0, P, Q 

Z5ZGT /SPACE FOR ROUGH WORK 



70. rn J T W  ?&'I "save more money" Tid7 3 k i  * W. 

"time and money" 3l Ffki "tis nim jes" &. "manage money judiciously" 3l Ffki 
"lop xer nim" &. "save more time" 3l* "jes kib dob" &. "save enough judiciously" 

JI * "xer kib hix" &. 

(1) "nim hix kib" 

(2) "nim kib dob" 

(3) "jes nim dob" 

(4) "more" 71 M m  $d rn M. 

Study following information and select the most appropriate code for "save more money". 

"time and money" is coded as "tis nim jes", "manage money judiciously" is coded as 
"lop xer nim", "save more time" is coded as "jes kib dob" and "save enough judiciously" 
is coded as "xer kib hix". 

(1) "nim hix kib" 

(2) "nim kib dob" 

(3) "jes nim dob" 

(4) There is no enough information for figuring code of "more". 

Nom travelled a distance of 2130 km for visiting his native place. He covered one-third of 
the total distance by plane; the distance that he covered by train is three-fifth to that of the 
distance he travelled by bus during this visit. Select the distance that he covered by bus 
during his visit. 

TXWUd /SPACE FOR ROUGH WORK 



72. d F 4 3 ~ 8 ~ ~ ~ ~ ~ ~ s ~ ~ s T l f o T ~ ~ ~  

m m :  
h 

e : e l g  
d t  

a b c  
(1) abcedfhg (2) dacebfhg (3) edbacfgh (4) cabedgfh 
Study accompanying group of 8 identical square sheets of cardboard and select their 
order of placing from bottom to top : 

h 

e t  
d t  

J. J .1 
a b c  

(1) abcedfhg (2) dacebfhg (3) edbacfgh (4) cabedgfh 

(3) 

Which figure from the following would replace the question marks if relation between 
a and b is same as that of c and d ? 

m 
(a) @) ( 4  ( 4  

(1) (2) 

d /SPACE FOR ROUGH WORK 
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Select image for empty place : 

?FET d /SPACE FOR ROUGH WORK 



75. *-mf3dF?mFJavaorfwdm*. ~ ~ n e T i t ~  

3T*f3m@*lrsfsrnm. 
d z + i m M r n * * f ~ w e m n m d l a m e f * ~ * 3  

* - 3 ~ ~ m a * m * m M & ( a ) . - m -  

x w k m h - * % * T i g r T d ( b ) . * ~ m ~ * Q m m ~ M  
RT37 7 F l  W$ (c). 67 & ?%&?~Iw 4 TT4iTVI = 8 k R  &WJA 3 T e  '@TTl 

d e m ; f i ( d ) . ~ m ~ d m * m ~ ~ ~ &  

( e ) . ~ 3 ~ e i d % ~ ~ - 3 ~ ~ ~ d . ~ 3 ~ e i ~ H m d  

m*mm*g;~***. m4f$ld~**'b3m3 
m " m d e - * m d m - ~ * .  

(1) - (4 @ 
(2) - (d) fi (4 - 
(3) (a), @) 3nfnT (4 f a 4  - 
(4) - (d) @ 
Some of the sentences in the following paragraph are shown with alphabetical order 
indicated after them. Decide the option that supports underlined sentence in the paragraph. 

We learned from the text book that as per the scientific rule decided by Widman 
Franz the substances that are good conductors of electricity are also good conductors of 
heat (a). The blue inorganic compound vanadium oxide is made from vanadium (b). This 
compound is good conductor of electricity but its capability of conducting heat is negligible 
(c). Vanadium completely attains heat resistance at temperature 67" centigrade as any 
normal nonmetals (d). At temperatures higher than this it is good conductor of heat and 
electricity like any normal metal (e). This means that it shows metal-nonmetal properties 

at specific temperatures. This means that heat conductivity of the substance is not totally 
dependent on its free moving electrons of that substance. This "smart matter" having 
various qualities will be useful for increasing working capacity of thermal engines due to 
its heat resistance. 
(1) Only (e) sufficient 

(2) Only (d) and (e) both necessary 
(3) (a), (b) and (c) three are necessary 
(4) Only (d) is sufficient 

f i -1 /3?&.  d=iwI*hWfT?d &4drf.*.*. T ~ T M  
9 3 . ~ . & ? 1 m d ~ 3 . ~ . v k i ? ~ m l r s f s k .  
(1) 12 (2) 24 (3) 48 (4) 96 
A magic rectangular piece of cloth always shrinks its length to 112 and width to 
113 whenever its owner wishes something. After three such wishes, its surface was 
4 cm2. If original width is 9 cm select the option that indicates its original length in cm. 

(1) 12 (2) 24 (3) 48 (4) 96 

= + P i T d  3lT /SPACE FOR ROUGH WORK 
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5 3 w ~ d m & w h h m ~ m y 7 r m ~ ~ ~ ~  

W&. ~ [ ~ h 5 d m ~ ~ * ~ ~ ~ w = + 3  

~ ~ T h m :  
(1) 3 (2) 6 (3) 12 (4) 15 
Transit Department of one town has collected information about its vehicles. There are 
three times as many public vehicles as private vehicles. 20 percent of the public vehicles 
are powered by alternative fuels, of which 40 percent are powered by bio fuels, 20 percent 
by hydrogen, and the remainder by natural gas. 25 percent of private vehicles are less 
than 5 years old, which is half the rate for natural gas public vehicles. Select the option 
that indicates percentage of town vehicles are natural gas public vehicles that are at least 
5 years old ? 

(1) 3 (2) 6 (3) 12 (4) 15 

(c) faadrn&wh?avrnm*. 
(d) m f a a d m & ~ G i f % m ~ ~ - m ~ .  
whit*: 
(1) d (2) rn* (3) - (a) (4) - (4 
Examine the following facts assuming them to be true and select logical inferences based 
on it. 
All students who display attribute of rational thinking enjoy learning science. Students 
who do not take interest in science often tend to be creative. Some students with rational 
t&g pursue carrier in science. 
Inferences : 

(a) Creative students never display attribute of rational thinking. 

@) Creative students are not likely to become scientist. 

(c) Rational thinkers are not creative thinkers. 

(d) Students who think rationally can only pursue carrier in science. 
Answer options : 

(1) All (2) None (3) Only (a) (4) Only (d) 

TEGT /SPACE FOR ROUGH WORK 



79. * m + e - ~ a s - - 5 0 * * * ~ - ~ 5 0 * ~  

rnrnmkht%mwbity+s&wrmwkiM: 
(1) 100 (2) 99 (3) 49 (4) 50 
Seema is both the 50th best and 50th worst runner in her class. Select the option that 
indicates total number of learners in her class : 
(1) 100 (2) 99 (3) 49 (4) 50 

so. mym?di@mdw*. m&i&*93.3.  *.m*qM 

Measures of fish sample are given as follows. Its head is 9 cm long. Its body length 
between the head and tlie tail is equal to the head plus tail. The tail length is equal to the 
head plus one fourth of the body length between the head and the tail. Select the number 
that indicates total length of the fish. 
(1) 54 cm (2) 48 cm (3) 42 cm (4) 40 cm 

81. WEll $FWd supercharging 3l T V d  W : 

(1) * m ~ ~  
(2) wukm- 
(3) r n o m ~ * i ; ' e n * ~  
(4) ***wrn*mir~~gmm- 
What is the purpose of employing supercharging for an engine ? 

(1) To provide forced cooling air 

(2) To raise exhaust pressure 

(3) To inject excess fuel for coping with higher load 

(4) To supply an intake of air at a density greater than that of surrounding atmosphere 

82. Kaizen Blitz 3 ?&XI gV?'hl& ~ % &. Kaizen Blitz 41 ?RRl 3 d  : 

(1) d q m  (2) W (Lightning Fast) 

(3) (1) * (2) 34 (4) im m 
A Kaizen Blitz is an intensive and focused approach to process improvement. The word 
Kaizen Blitz means : 
(1) Continuous Improvement (2) Lightning Fast 
(3) Both (1) and (2) (4) Real Place 

ZiFZIT W /SPACE EOR ROUGH WORK 
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83. &cylinder in-line engine 9d firing order W d W d  ? 
(1) 1-5-3-6-2-4 (2) 1-4-3-2-6-5 (3) 1-6-3-5-2-4 (4) 1-3-6-2-4-5 
Firing order of 6-cylinder in-line engine is usually : 
(1) 1-5-3-6-2-4 (2) 1-4-3-2-6-5 (3) 1-6-3-5-2-4 (4) 1-3-6-2-4-5 

84. mh@amrnR? 

(1) rn (2) (3) 3 (4) rn 
Eleckic brakes are commonly used in : 
(1) Two wheelers (2) Cars (3) Trucks (4) Trailers 

The colour of the positive plate of a lead acid battery is : 
(1) Brown (2) Gray (3) White (4) Black 

- 

86. "Flat plate collector" W h? 
(1) ma kf%vkd (2) m m m  
(3) -*f;rw (4) F33+F3 Wa-4 d 
A flat plate collector absorbs : 
(1) Direct radiation only (2) Diffused radiation only 
(3) Direct and Diffused both (4) None of the above 

87. ~ ~ ~ 3 3 % 7 W % ~ ? ? @ I I % W T ' J l & ? % @ ~ ?  

(1) *miFTl mG3 (2) $k - m d  
(3) *- m d  (4) -** 
In order to reduce the braking distance of a moving vehicle, we use braking in : 
(1) Rear pair of wheels (2) Front pair of wheels 
(3) Both pairs of wheels (4) None of the above 

-- 

88. % ~ ~ ' $ ' W W T ~ ~ ~ W W & , R ~ F T ~ T ~ ~ ?  

(1) * (2) ?fM 
(3) - (1) 4% (2). (4) * 
When the two surfaces in contact having a minute ttun layer of lubricant between them, 
it is known as : 
(1) skin friction (2) greasy friction 
(3) both (1) and (2) (4) filmfriction 

ZlTJlI /SPACE FOR ROUGH WORK 



89. Quality Function Deployment (QFD) ThF3 7Rfl3 ?XM : 

(4) f%wh * M 

Quality Function Deployment (QFD) technique is used to : 

(1) Convert customer needs to engineering specifications 

(2) Find criticality of the component 

(3) Check quality of the product 

(4) Serve as a cost estimator 

90. Contouring &f&R WXFTl, dTb4 sd counter f&d & ?  

(1) -- (2) - - 
(3) -dm (4) -m%t=r3 
In contouring operations, program is prepared by offsetting the counter by an amount 
equal to : 

(1) Diameter of cutter (2) Radius of cutter 

(3) Thckness of cutter (4) None of the above 

When the sun gear i s  held and the &net carrier is turned, the planetary gearset 
provides : 

(1) speed reduction 

(3) direct drive 

(2) speed increases 

(4) reverse speed 

3 7 P I T f d  3 P U  /SPACE FOR ROUGH WORK 
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Which of the following factors is considered in uniform tyre quality grading in al l  tyres 
except snow tyres ? 

(1) Tyre pressure, tyre material and bead design 

(2) Tread wear, traction and temperatuxe resistance 

(3) Tread wear, bead design 

(4) None of the above 

An overdrive simple epicyclic gear train has sun and annulus gear with 21 and 75 teeth 
respectively. How many teeth will be there to planet gear ? 

Ln the automatic transmission, the band is control by 

(1) a clutch (2) a servo 

(3) an accumulator (4) a drum 

/SPACE FOR ROUGH WORK 



In Automobile cornering power (cornering stiffness) is ratio of : 

cornering force 

slip angle 

cornering force 

(3) pressure at centre 

slip angle 

(') cornering force 

pressure at  centre 

(4) cornering force 

96. ~ ~ ~ ~ 7 n ~ ~ f $ ; :  

(I) m=!d**=m*?-m@7*dr. 

(2) ~ r [ d * * m m ~ ? ~ ~ ~ ~ .  

(3) *mdr*ms~m3Traa'r*. 

(4) -* m?. 
The pressurized cooling system allows : 

(1) the coolant to circulate at higher temperature without boiling 

(2) the coolant to circulate at lower temperature without boiling 

(3) coolant losses through evaporation and surging 

(4) None of the above 

Between top gear ratio and bottom gear ratio, which progression is used to select 
intermediate ratios ? 

(1) Arithmetic (2) Geometric (3) Harmonic (4) Natural 

?fEZIl W4T& 3Pl l  /SPACE FOR ROUGH WORK 
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(4) * s T i F T * - i t . m r * m ~ ~ m = T $  

The use of PAS systems for heavy duty vehicles is for : 

(1) increasing the required number of steering wheel turns 

(2) additional effort for steering 

(3) minimising drivers fatigue by lightening the action of the steering 

(4) not to permit heavier loading of the steering wheels 

(a) mfRiwn- 

(b) wmfavm?V6t 

(c) ~ * * ~ J I F ~  

(d) em fSIm qt'el 

(3) (4, (b), (c) 4 (d) (4) ( 4 ,  (b), (4 4 (4 m =T$ 

Clutch friction material should have following properties : 

(a) high coefficient of friction 

(b) high energy absorption capacity 

(c) high level of cyclic working endurance 

(d) adequate shear strength 

Above statement is true for points : 

(1) ( 4 ,  (b) and (4 ( 2 )  (b), (c) and (4 
(3) (a), (b), (c) and (d) (4) None of (a), (b), (c) and (d) applicable 

3 i l W d  W /SPACE F O R  R O U G H  W O R K  



The manifold absolute pressure sensor is used in speed density fuel injection system to : 

(1) provide signal that enables the ECM that calculates amount of fuel entering in the 
engine. 

(2 )  provide signal that enables the ECM to calculate amount of air entering in e n w e .  

(3) control the fuel pressure at injectors. 

(4) control EGR valve. 

?GE4T d 3PlT /SPACE FOR ROUGH WORK 

P.T.O. 
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